SNV

744

FriendsNo.219 (2021 11 )
Web

|><9)b7u77\U77/t VI tYyNPvTF YN rmmmeron

CLAMPING KITS WITH METAL RACKS No.E-9412SM

(# B )S45C-S45CHEEaS A

RILMRICEDE T4 RILMRICEDE T

(RENE) B8
B4y hAER
—— 27w 70Ovo ATV SISV
STB1,2,3824| &N BFuhst
STB4,5,6%24) 1set | RILMEICEDET
28
T-Stzwh
XI T —ZAWIRET —Z 1) ZIURIRIUR IS5V F

_— RIMEICADETT5, BFuhst
100.125.150.175,200% RILMEICEDETHE
VES
HYFUVTFuk TROWkFwk
Eruhs ‘ EFuhst

D e s RiltEES * FEEERY TS
F—5"—No. No. EATAEN *IREE) T-Stwk 2FVFISV L (E2MB) 2FVFIOvIEUE) Eekg|

%901094 | CMR1412 | 14 MI12x1.75 1set :STC0301-STC0302-STCO303 STB-1-STB-2:STB-3: 11 | 52,500
%901118 | CMR1612 | 16 M12X1.75 1set STC0301-STC0302-STCO303 STB-1-STB-2-STB-3: 11 | 52,500
%901119 | CMR1614 | 16 M14X2 Tset STC0401-STC0402-STC0403 STB-1-STB-2-STB-3: 13 | 54,000
%901120 |CMH1614| 16  M14X2 1set STC0401-STC0402-STCO403 STB-4:STB-5:STB-6. 23 | 77,500
%901121 |CMH1816 | 18 M16X2 1set STC0401-STC0402-STCO403:STB-4-STB-5-STB-6: 25 | 82,000

XS SyINITAOY N YNRURTYREY b e e

| TSLOT NUTS & STUDS SETS WITH METAL RACKS No.E-9411SM

S45C BEA 224

W=+ bhAER
29YRRIUS TSVIFIh
\ RILMRICEDETZ5.100. ‘ HFuhHt
125.150,175.200% RILMEICEDE T4E
4K
HYFUVTFwk T2OvRFwk
XSG T —Z A (RET — A1) Shyhst Bruht
RILMEICEDETAE ‘ RIVNEICEDETOE
[ e it EES * IR THRE

BMO01275.12100, 12125,
* 901095 | SSM1412 14 MI12X1.75 TNM1412° FNMO012 1 CNMO012 1 gaa72750.12175. 12200 4.4 117,400

BM01275.12100.12125.
*%901122 | SSM1612 16 M12X1.75 TNM1612 ° FNM0012 1 CNMO012 ¢ gaa72750.12175. 12200 4.5 | 17,500

BMO01475.14100,14125,
#901123 | SSM1614 16 M14X2 TNM1614 - FNM0014 : CNMOO14 - 50434150 14175. 14200 5.7 | 18,700

BMO01475.,14100. 14125,
*%901124 |SSM1814 18 M14X2 TNM1814 - FNM0014 : CNMOO14 - 5ya34150" 14175, 14200 5.8 | 18,900

%901125 |SSM1816| 18 M16x2  TNMIB16 FNMOOT6 CNMoOTe SMal6/3.16100.16123. 74 | 20,800

#901126 |SSM2016| 20 MI16x2  TNM2016 FNM0OT6 CNMooTe EMa16/5.16100-16123. g0 | 21,500

SINCE 1560

CADF—955>0—FK « EERAE Web B« hT! [ 7 R¥ | ﬁi\ v g

FriendsNo.219/2021.112EkR






